RAILWAY RECRUITMENT BOARDS
Yo et a2

Level-1 Posts CEN-02/2018

[Participant ID: 282052087520043
Participants Name:|BANDI SURESH

Test Center Name: |iON Digital Zone iDZ Arunodaya Nagar
Test Date: 10/10/2018

Test Time: 9:00 AM - 10:30 AM
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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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Question ID : 6789132579
Option 11D : 67891310316
Option 2 ID : 67891310315
Option 31D : 67891310313
Option 4 ID : 67891310314
Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID : 6789132563
Option 11D : 67891310249
Option 2 ID : 67891310251
Option 31D : 67891310250
Option 41D : 67891310252
Status : Answered
Chosen Option : 3

Q.3 The force of attraction F between two bodies is 1/9 F. Then the distance between the two bodies is:




Ans X 1.
X 2
p
- tripled

samme

Zero
doubled

Question ID : 6789132559
Option 11D : 67891310233
Option 2 1D : 67891310236
Option 31D : 67891310234
Option 4 1D : 67891310235
Status : Not Attempted and Marked For Review
Chosen Option : --

reacts in the presence of an acid or a base to give back the alcohol and carboxylic acid.

- Ethanol

- Esters

- Methanol
- Ketones

Question ID : 6789132573
Option 11D : 67891310289
Option 2 1D : 67891310291
Option 31D : 67891310290
Option 4 ID : 67891310292
Status : Marked For Review
Chosen Option : 1

Q.5 Pointing to a photograph, Ramesh said, “He is the son of the only daughter of the father of my brother”. How is Ramesh
related to the man in the photograph?

Ans X 1. Father

/< 2. Brother
' 3. Maternal Uncle
/< 4 Nephew

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789132530
67891310118
67891310120
67891310117
67891310119
Answered

3

Q6 Which of the following is an electronic configuration of a metal?
Ans ! 1. 2,83

X 2 2,84
X 3 2,86
X 4 2,85

Question ID : 6789132574




Option 1 ID : 67891310296
Option 2 ID : 67891310295
Option 31D : 67891310293
Option 4 ID : 67891310294
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.7 From each corner of a square having an edge of 3 cm, a 0.5-cm segment was chopped off from each side, the chopped

portion containing a vertex. What is the perimeter and the area (respectively) of the octagon thus created?

Ans X Sﬁcmandﬁcmz
X2 lllilllxﬁcmaﬁu:iScm2
Vs (8+2+2) cm and 8 cm?

#X 4 8 cmand 8 em?

Question ID : 6789132520
Option 11D : 67891310078
Option 2 ID : 67891310079
Option 31D : 67891310080
Option 4 ID : 67891310077
Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID : 6789132537
Option 11D : 67891310146
Option 2 ID : 67891310147
Option 31D : 67891310148
Option 4 1D : 67891310145
Status : Answered
Chosen Option : 4

Q9 Which of the following is not a property of covalent compounds?
Ans  of 1 High melting and boiling points

/< 2. Insoluble in water and soluble in organic solvents

/< 3. Poor conductors of heat and electricity

< 4 Low melting and boiling points

Question ID : 6789132575

Option 11D : 67891310298
Option 2 ID : 67891310299
Option 31D : 67891310300




Option 4 1D : 67891310297
Status : Not Attempted and Marked For Review
Chosen Option : --

061 For a given force, if the surface area is smaller, the pressure will be:

Ans 1. constant

W 2. greater

/X 3 smaller

/< 4 changing
Question ID : 6789132556
Option 11D : 67891310223
Option 2 1D : 67891310222
Option 31D : 67891310221
Option 4 1D : 67891310224

Status : Answered
Chosen Option : 2
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Question ID : 6789132564
Option 11D : 67891310254
Option 2 ID : 67891310255
Option 31D : 67891310256
Option 4 1D : 67891310253
Status : Not Attempted and Marked For Review
Chosen Option : --

°2'1 Animals from are NON-motile animals.

Ans X 1. Coelenterate
/< 2. Nematoda
/< 3. Platyhelminthes

' 4 Porifera

Question ID : 6789132577
Option 11D : 67891310306
Option 2 ID : 67891310308
Option 31D : 67891310307
Option 4 ID : 67891310305
Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID : 6789132540
Option 11D : 67891310157
Option 21D : 67891310160
Option 31D : 67891310159
Option 41D : 67891310158
Status : Answered
Chosen Option: 1

4
Ans

v 1115
X 2116
X 3104
X412

Q.1 The points scored by 12 people are 6, 17, 8, 9, 16, 10, 15, 21, 9, 11, 12 and 16. Find the median.

Question ID : 6789132521
Option 11D : 67891310084
Option 2 ID : 67891310082
Option 31D : 67891310081
Option 4 ID : 67891310083
Status : Marked For Review
Chosen Option : 4

5
Ans

X148
X 2 45
X350
v 4 40

Q.1 + e9085 — 9D, — 29063 = €3, = 9063 + €9, = €9063 + 9D e9:0E05 I — 4 + 14 x 7 = 6 = Joes?




Chosen Option :

Question ID : 6789132538
Option 11D : 67891310149
Option 21D : 67891310150
Option 31D : 67891310152
Option 41D : 67891310151
Status : Answered
Chosen Option : 4
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Question ID : 6789132551
Option 11D : 67891310202
Option 2 ID : 67891310204
Option 31D : 67891310201
Option 4 ID : 67891310203
Status : Answered
Chosen Option: 3
Q.1 In the new budget, the price of petrol has increased by 10%. By how much per cent should a motorist reduce his
7 consumption of petrol, so that his overall expenditure on petrol does NOT increase?
Ans : 1
v 19— %
1
1
K211 %
9
X3 11%
X 4 10%
Question ID : 6789132512
Option 11D : 67891310047
Option 2 ID : 67891310048
Option 31D : 67891310046
Option 4 ID : 67891310045
Status : Answered

1
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Ans x 1. 30
X 2 60
X3 40
v 4 50

Question ID : 6789132542
Option 11D : 67891310165
Option 21D : 67891310168
Option 31D : 67891310166
Option 41D : 67891310167
Status : Answered
Chosen Option : 4
N -
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Question ID : 6789132578
Option 11D : 67891310310
Option 2 ID : 67891310309
Option 31D : 67891310312
Option 4 ID : 67891310311
Status : Answered
Chosen Option : 1
Q.2 sunny is facing the East. He then turns 45° clockwise and then 135° anti-clockwise. In which direction is he facing
0 now?
Ans 1. South
X 2. East
X 3. West
« 4 North
Question ID : 6789132554




Option 11D : 67891310216
Option 2 ID : 67891310214
Option 31D : 67891310215
Option 4 ID : 67891310213
Status : Answered
Chosen Option : 4
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Question ID : 6789132590
Option 11D : 67891310359
Option 2 1D : 67891310360
Option 31D : 67891310357
Option 4 1D : 67891310358
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.2 The area of a rectangle is 12.46 m> ., If the length of the rectangle is 3.5 m, find the width (in m) of the rectangle.
2

Ans X 1. 3.54
v 2 356
X 3 3.62
K 4 3.58

Question ID : 6789132507
Option 11D : 67891310026

Option 21D :
Option 31D :
Option 41D :

67891310028
67891310025
67891310027

Status : Answered
Chosen Option: 1

Qéz Which of the following acids give less H ™ ion when dissolved in water?
Ans X 1. HySOy

X 2. HNO;3

+ 3. CH3COOH

< 4 HCl

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

6789132571

67891310281
67891310284
67891310283
67891310282

Marked For Review
Chosen Option : 4




Q.2 A person reaches his office from his home in 2 hours. He covers 1/4 of the total distance cycling at a speed of 15 kmv/hr,
4 172 of the total distance by bus with a speed of 30 km/hr and the rest by walking at a speed of 5 km/hr. What is the
average speed of this person?

Ans  of 1. 12 km/h
X 2 14 km/h
Z 3 10 km/h
X 4 15 km/h

Question ID : 6789132513
Option 11D : 67891310050
Option 2 ID : 67891310051
Option 31D : 67891310049
Option 4 ID : 67891310052
Status : Not Attempted and Marked For Review
Chosen Option : --

05;2 The sample space of four dice thrown together is:

Ans 1. 1296
2. 36
3. 216
4.1026

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 6789132522
Option 11D : 67891310087
Option 2 1D : 67891310086
Option 31D : 67891310085
Option 4 1D : 67891310088
Status : Not Attempted and Marked For Review
Chosen Option : --

@2 Find the word that does not belong to the group:

Calendar. Day, Year, Month

Ans X 1. Day
' 2 Calendar
/< 3. Year
/< 4 Month
Question ID : 6789132527
Option 11D : 67891310107
Option 21D : 67891310108
Option 31D : 67891310106
Option 41D : 67891310105
Status : Answered
Chosen Option : 2
Q.2
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Question ID : 6789132525
Option 11D : 67891310098
Option 2 ID : 67891310099
Option 31D : 67891310100
Option 4 ID : 67891310097
Status : Marked For Review
Chosen Option : 2

Q.2 ‘Citius. Altius, Fortius’, a Latin phrase which means ‘Faster, Higher. Stronger’ is the official motto of which games?
8

Ans < 1. World Para Athletics
/< 2. Global Association of International Sports Federations

« 3. The Olympic Games
/< 4 Asian Games

Question ID : 6789132581
Option 11D : 67891310323
Option 2 ID : 67891310321
Option 31D : 67891310324
Option 4 ID : 67891310322
Status : Not Answered
Chosen Option : --
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Question ID : 6789132545
Option 11D : 67891310180
Option 2 ID : 67891310177
Option 31D : 67891310179
Option 41D : 67891310178
Status : Answered
Chosen Option : 3

Q.3
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Question ID : 6789132508
Option 11D : 67891310031
Option 2 1D : 67891310029
Option 31D : 67891310030
Option 4 1D : 67891310032
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.3 1Ineach question below is given a statement followed by two assumptions numbered I and II. You have to consider the

1 statement and the following assumptions and decide which of the assumptions is implicit in the statement.

Statement:

An advertisement states. “Company will provide travel fare to candidates appearing for interview from outside.”

Assumptions:
E: Company will select only outside candidates.

. Only train fare will be given by the company that has put in the advertisement.
Ans X 1. Only assumption II is implicit

/< 2. Only assumption I is implicit

/< 3. Both assumptions I and II are implicit

« 4 Neither assumption I nor II is implicit

Question ID : 6789132534
Option 11D : 67891310134
Option 21D : 67891310133
Option 31D : 67891310136
Option 41D : 67891310135
Status : Answered
Chosen Option : 4
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Question ID : 6789132583
Option 11D : 67891310332
Option 2 1D : 67891310331
Option 31D : 67891310329
Option 4 1D : 67891310330
Status : Not Attempted and Marked For Review
Chosen Option : --

%3 Find the LCM of 2x3 — 16,3(x2 + 3x — 10),x® + 2x% — 8x
Ans o 1 6x(x —2)(x + D(x+5)(x2+2x +4)
K2ox(x—3Nx+DE+5)x*+2x+4)
X3 6(x—2)(x+4)(x+5)(x%+2x+ 4)
X4 6x(x+2)(x+ D (x+5) (x> +2x+4)

Question ID : 6789132506
Option 11D : 67891310021
Option 2 1D : 67891310023
Option 31D : 67891310022
Option 4 ID : 67891310024
Status : Not Attempted and Marked For Review
Chosen Option : --
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Ans X 1. 535
X 2925
X3 745
v 4735

Question ID : 6789132593
Option 11D : 67891310371
Option 2 1D : 67891310372
Option 31D : 67891310370
Option 4 ID : 67891310369
Status : Not Attempted and Marked For Review
Chosen Option : --

053 Which of the following forms the backbone of the Digital India initiative?
Ans 1. High-speed internet

X 2 e-RaKAM

+ 3. Bharat Net project

/< 4 Digi Yatra




Chosen Option :

Question ID : 6789132600
Option 11D : 67891310399
Option 2 1D : 67891310397
Option 31D : 67891310400
Option 4 ID : 67891310398
Status : Answered
Chosen Option : 4
@3 The relative mass of Ca(OH); is:
ans of 1. 740
X2 73u
X3 75u
X4 720
Question ID : 6789132568
Option 11D : 67891310271
Option 2 1D : 67891310270
Option 31D : 67891310272
Option 4 1D : 67891310269
Status : Answered
Chosen Option: 3
.3
L D5y 200 59 JowEod.
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Ans x 1. B
X2C
X3D
v A
Question ID : 6789132547
Option 11D : 67891310186
Option 2 ID : 67891310187
Option 31D : 67891310188
Option 4 ID : 67891310185
Status : Not Attempted and Marked For Review

Ans1. 91211273
2. 91881633
3. 91881918
491134258

for all candidates.
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored




Question ID : 6789132526
Option 11D : 67891310101
Option 21D : 67891310102
Option 31D : 67891310103
Option 4 1D : 67891310104
Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6789132589

67891310354
67891310356
67891310355
67891310353
Not Answered

0 per annum approximately?

Ans 1. F 8280

Q.4 How much will an amount of ¥ 8000 increase after 2 years when the interest is compounded annually at the rate of 5%

v 2 78820

< 3 F8220

< 4 T 8880
Question ID : 6789132511
Option 1 ID : 67891310044
Option 2 ID : 67891310042
Option 3 ID : 67891310043
Option 4 ID : 67891310041

Status : Answered
Chosen Option : 2
°1'4 is an unsaturated hydrocarbon.
Ans 1. Methane

\f 2. Benzene

/< 3. Ethane

/< 4. Butane
Question ID : 6789132572
Option 11D : 67891310288
Option 2 ID : 67891310286
Option 3 ID : 67891310287
Option 4 ID : 67891310285




Status : Not Answered
Chosen Option : --
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Question ID : 6789132557
Option 11D : 67891310226
Option 2 ID : 67891310225
Option 31D : 67891310228
Option 4 D : 67891310227

Status : Answered
Chosen Option : 4

3 o respectively. What is the present age of S, in years?

Q.4 Present ages of S and A are in the ratio of 5 : 4, respectively. Three years hence, the ratio of their ages will become 11 :

ans X140
X2 27
X 3 24
v 4 30
Question ID : 6789132518
Option 11D : 67891310072
Option 2 ID : 67891310071
Option 3 ID : 67891310070
Option 4 ID : 67891310069
Status : Answered
Chosen Option : 4
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Question ID : 6789132586
Option 11D : 67891310343
Option 2 ID : 67891310342
Option 3 ID : 67891310341
Option 4 ID : 67891310344
Status : Answered

Chosen Option : 4
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Question ID : 6789132594
Option 11D : 67891310375
Option 2 ID : 67891310376
Option 31D : 67891310373
Option 4 1D : 67891310374
Status : Answered
Chosen Option: 3
Q.4 The following data shows information about tyres manufactured by various companies in India during 2017. If the total
6 tyres manufactured in India during 2017 was 1,80,000 units, how many units of tyres were manufactured by company
‘A7
ofon |
A
RS
c
Ans 1. 22,500
W 2. 45.000
% 3. 45,900
25 490,000
Question ID : 6789132541
Option 11D : 67891310161
Option 21D : 67891310162
Option 31D : 67891310163
Option 41D : 67891310164
Status : Answered
Chosen Option : 2
Qf 208 a3 e0Q BT DD DO ‘A)@DTSUESG 2,863 5206
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X 4 2ocsuomE ePGE Dodoinod.
Question ID : 6789132595
Option 11D : 67891310380
Option 2 ID : 67891310379
Option 31D : 67891310378
Option 4 ID : 67891310377
Status : Answered

Chosen Option: 2




°é4 The atmosphere of early Earth was mainly composed of:
Ans X 1. NH3, H>S and O

« 2 NH;. CH,; and H>S

X 3. CH4. H>Sand O,

X 4. NHj3. CHy4 and O

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 6789132580

: 67891310320
167891310317
: 67891310319
167891310318
: Not Answered
Chosen Option :

Q4 10V TOQaies B SHAD Tocd Dociane Dot 3C &8 SHDODINYED Jod DI 2MMHEBAL?
9

Ans X 1.-30J
v 2 30J
X3 -30A
X4 30A
Question ID : 6789132565
Option 11D : 67891310258
Option 2 ID : 67891310257
Option 3 ID : 67891310260
Option 4 ID : 67891310259
Status : Answered
Chosen Option : 2
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X 3. o700 | 7@ 908000
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Question ID : 6789132535
Option 11D : 67891310138
Option 2 ID : 67891310140
Option 31D : 67891310137
Option 41D : 67891310139




Status : Answered

Chosen Option : 3
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Question ID : 6789132549
Option 11D : 67891310195
Option 21D : 67891310194
Option 31D : 67891310196
Option 4 1D : 67891310193
Status : Answered

Chosen Option : 4

Ans
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789132582

67891310328

67891310326

67891310325

67891310327

Not Attempted and Marked For Review

Q.5 an object of mass 10 kg is moving with a uniform velocity of 5 ms~!. What is the kinetic energy possessed by the
object?




Ans X' 1.180.57
v 21257
< 3 187.5 ms
X 418757

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

16789132561

167891310244
167891310243
167891310242
167891310241

Answered

Chosen Option : 2
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789132569
67891310273
67891310275
67891310274
67891310276
Answered

2

Ans of 1. 19
X 219.5
< 3.18.5
X420
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Question ID :
Option 11D :
Option 21D :
Option 31D :
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Q.6 Anika introduced a girl as her father’s only sister’s second daughter. The girl is Anika’s father’s .
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Q.7 Read the given statement(s) and conclusions carefully and select which of the conclusions logically follow(s) from the
5 statement(s).

Statements:
L All keys are metals.

1L Some metals are locks.

Conclusions:
L. Some keys are locks.

2. Some metals are keys.

Ans  of 1. Conclusion 2 alone follows.
# 2. Conclusion 1 alone follows.
/< 3. Neither 1 nor 2 follows.

& 4 Both 1 and 2 follows.
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Ans 1. kinetic energy
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< 3. muscular energy

« 4 potential energy

Qé7 When vou stretch a rubber band., the energy transferred is stored in the form of:
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